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1. The average mass of a carbon atom 15 12011, Assuming you were able w pick up
cnly one carbon unit, the chances that you would randomly get one with a mass of
12.017 is
a, 0%, b 001, c.about 12%,.  d.12.011%. B. greater than S09E,

2 You heat 2970 g of a mixtore of Fea0y and Te b fonn 4195 g Fe:0: . What was
the mass percent of Fed originally in the mixtuye ?

3. What volume of .25 M NGy is necessary to react exacthy with 7.4 ¢ of CafQOH): ?

4. A saraple of oxygen gas hos a volume of 450 L at 27 % and 8000 torr.  1ow many
oxyeen molecules does it conlain?

5. What is the sperific heat capacity of gobd if itrequires 48,8 f ro raiee the temmperatoie
of 159 prams of gold 25 722

B, When an ¢lectron in a 2p orbital of a lithium atorn meakes 2 transition to the 25
orhital , a pholon of wavelengih 6708 rirn is ernitted. What is the energy difforence

etween these 2p and 25 arbilals 7

7. Calealate Hae lattice enecpy tor LiP(s} given the Following:

sublirmation energy for Lijs) +161 k[ fmal
& H; for B} +F7 K]Sl
first iznization energy of Lilg) =520, K]/ ook
electron akinity of Ffg} =328 k] rnnl
enthalpy of formalion of Li¥(s) -GT7 K] F ool

8. What is the hyibridization of 1in IF,- ?

4. The vapor pressure of water ak 23 1] 38 233 torr, amd the heal of vaporization of
water ab 23 °C 8439 K[/ mol, Calculale the vapor pressuce of water at 50,

10 Concenlratad nitric acid is a solution taak is 70% BNO; . by mass. The density of
Uvis acid s 1.42 g/ con. What is the molarity of this acid?
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11, The average rate of disappearance of ozone in the reaction 20:(g] = 30a(g) s
Forned o Be 9.0 % TO%Im over & cectin intorval of tme,  What is the rake of

appearance of Op duxing this inferval?
12, Find the valoe of the equilibrium constant (K) (at 3040 K] for
[ @) + 3odalp) «= ZNH; ()
The value for Kpat 300 K is 1.5 x 104/ atm?,
13, For nitrous acid, HNO: , Ka = 4.0 x 10+ Calcolate the pH of 0.23 M HNO,,
14. IF 25 mlL of 0.75 bd HCL are added o 100 1l of 0,25 3 NaQFL, what is the final pH?

[5. The stanclard {ree energy of formalion of AgCKs)is -110 K]/ mel. What is A G for
the reaclion 2AgCWs) = 2Ag(s1+ Clz (&) ¥

16, Copper iz electroplated from Cudy solution. A constant current of 4.00 amp is
applied by an exleraal power supply. How long will it bake to deposit 1d = 105 g
of Cu?  The abornic mass of copper is 63.546,

17. A coordination compound of Cu? can be described as Cu{MNH;).50q and is known
to comtain 29.9% MNHL . What is the value of x 7

18. The hall-life of %51 s 38 vears,  Mow Jung will it take for a given sampie of WS 1o
Be 90% decotnposed ? '

14 How many isomers of Gl ave there 7

20. How many pussihlé sequences can be made for o poly peptide with five difterent
aning acids?
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